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1 A—4 HARI#AO 0.16 0.16 0.16 BEh
2l B—3 [IRSMKEE 0.10 0.10 0.10 BEh
3] B—4 [E/giEfhE 0.13 0.13 0.13 B
4 B—5 |[HHLAELE 0.09 0.09 0.10 B
5 B—5 |AhhAREE 0.07 0.08 0.09|EN(FEE2cm)
6] B—5 |RIREEM A 0.08 0.08 0.08 BEh
7 B—5 [XK(HEp){hHE 0.11 0.11 0.11 =)
8] B—5 |[FEXE 0.08 0.07 0.06 B
9] B—6 |THHALERSE 0.08 0.09 0.10 B
10 B—6 | THJIfHE 0.07 0.07 0.07 Eh
11 B—6 ¥EE1,nr%R.—JJ$ 0 (F\A) ik 0.07 0.07 0.07 BEh
12| B—6 [dEfFHAE 0.09 0.09 0.09 BEh
13] B—6 [dLpifhii 0.09 0.10 0.10 BEh
14 B—6 |FHABHE 0.08 0.08 0.09 BEh
15 B—6 |EI/EAREER] 0.09 0.09 0.09| s (FEE5em)
16 B—6 |XKRELEFT 0.08 0.07 0.07|EN(FEE2cm)
17/ B—7 |/NAEFHIE(EXRAEIE ) 0.08 0.07 0.07 B
18/ Cc—3 [FARMEAO 0.10 0.10 0.09 B
19 C—3 %/ Ar=&Him AOfHk 0.10 0.10 0.11 BEh
200 C—4 |[#BOLUKN 0.09 0.10 0.10 BEh
21 C—4 |FHX(BFHMEE ) 0.07 0.08 0.07 B
22| C—4 [BABfE 0.09 0.10 0.10 BEh
23] C—4 [PXRFTIU—2FH9U(RE) (1) 0.09 0.10 0.10|ENGEE
24| C—5 |[BEENARfE 0.07 0.07 0.07 =l
25| C—5 A LU = b 5T 0.07 0.07 0.08 BEh
6] C—5 |X£i% 0.09 0.09 0.10 B
211 C—5 [TrEAEHMNA 0.09 0.09 0.09 BEh
28] C—6 [5OFENE 0.08 0.08 0.08 BEh
29] Cc—6 |EIALNEREEER 0.09 0.08 0.08 B
300 C—6 |[HEUIZXFE#AD 0.08 0.08 0.09 BEh
31 C—6 [HBluTZEMihERKithishEEm 0.17 0.17 0.16|EN (FBE
32l Cc—6 [LATULAERI 0.09 0.10 0.09 B
33] C—6  |[MEBEBAG{MA 0.10 0.09 0.09 BEh
34| C—6 |[FEELREEEIFEHRHEH 0.07 0.07 0.07 BEh
35| C—6 |IUTREENE 7—(EAH) 0.06 0.06 0.06 BEh
36| C—6 |IUTEISEELRE 0.13 0.13 0.12 B
3711 Cc—7 [IqUNnNAVEB 0.08 0.08 0.07 B
38] C—7 | XKFEREE) 0.07 0.08 0.08 B
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40] C—7 |{EHFEEAIEMMA 0.08 0.08 0.09 BEh
41 C—7 |CEBEEAmmafta 0.07 0.06 0.06 B
42 C—7 CaIGSE DR 0.08 0.08 0.07 B
43| C—7 |[EhEhh (BiE15) 0.07 0.07 0.07 B
44| C—7 | KFHFHIEFRMA 0.07 0.07 0.08 B
45| C—8 |BER(hHFE) 0.10 0.10 0.10 BEh
46| D—2 |IH¥Y—rwkCcCAO 0.10 0.10 0.11 ED)
47 D—3 [PAXFEE 0.09 0.10 0.10 £
48] D—3 |HEAERfEFHA 0.08 0.08 0.09 ED)
49 D—4 |SB () fhk 0.07 0.07 0.07 BEh
50 D—4 |EBHEA/AMNK 0.09 0.09 0.08 BEh
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79 E—5 |E8EIRFIHE 0.07 0.07 0.07 BEh

80 E—6 — /XN 0.06 0.07 0.07|EENGEEE 1cm)

81 E—6 | EEFER=FIFET 0.12 0.12 0.11 BEh
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97 F—6  [MEHGET Fi% 0.04 0.05 0.05 BEh
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